
Horisont Safety Systems AB • Ängsgatan 11 •  828 32 Edsbyn
info@horisontsafety.se 

Telefon: +46 (0) 271-212 75 ( Växel)
www.horisontsafety.se

 Art. Nr: HP11427
Ett fäste speciellt lämpat för montering på fasa-
der där man har stort takutsprång. Stolphållaren 
kan justeras upp till 910mm från fästytan, och 
vinklas till önskad position i jämna steg om 22,5°

Varmgalvaniserad

EN13374 A, B

Vikt: 9kg

VINKELFLEXFÄSTE
Teknisk data och produktinformation.

T
h

is
 d

o
c
u

m
e

n
t 

c
o

n
ta

in
s
 c

o
n

fi
d

e
n

ti
a

l 
a

n
d

 p
ro

p
ri

e
ra

ry
 i
n

fo
rm

a
ti
o

n
th

a
t 

c
a

n
n

o
t 

b
e

 r
e

p
ro

d
u

c
e

d
 o

r 
d

iv
u

lg
e

d
, 

in
 w

h
o

le
 o

r 
in

 p
a

rt
, 

w
it
h

o
u

t 
w

ri
tt

e
n

 a
u

th
o

ri
z
a

ti
o

n
 f

ro
m

 W
O

R
X

S
A

F
E

.

WEIGHT: [kg] 2015-11-05

00

ANGLE ATTACHMENT

831427

2015-11-05

2015-11-05

ML

PH

8.61

A3

SHEET 1 OF 1SCALE:1:5

DWG NO.

TITLE:

REVISIONDO NOT SCALE DRAWING

MATERIAL: DATESIGNATURENAME

FINISH:

Q.A

MFG

APPV'D

CHK'D

DRAWN

   WELDS: ISO 13920-AF Welding sparks shall not be of the size and shape that cutting or catching/tearing clothes is possible.

[mm]

Grinding scratches should be avoided.
Remaining scale should not exist, especially if the surfaces will be zinc plated/electro-galvanized. 

Debur and break sharp edges.

   TOLERANCES:

   GEOMETRICAL: ISO 2768-cL

PJ

 1055 

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 831435 Tube 1
2 831428 1
3 831446 Weld assy 1

4  - ISO 4017-M6x16-8.8-Stainless steel 1

5  - ISO 7040-M6-8.8-Stainless steel 1

6  - ISO 7040-M12-8.8-Stainless steel 2

7  - ISO 4014-M12x60-8.8-Stainles steel 2

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 831435 Tube 1
2 831428 1
3 831446 Weld assy 1

4  - ISO 4017-M6x16-8.8-Stainless steel 1

5  - ISO 7040-M6-8.8-Stainless steel 1

6  - ISO 7040-M12-8.8-Stainless steel 2

7  - ISO 4014-M12x60-8.8-Stainles steel 2

 4
35

 
 7

2 

5

6

3
1

4

2

7


